
Swing Count
Use repeated addition and multiplication to find the answer to each 
word problem.

For 5 holes, Larry hit the ball 7 times. For 7 of the holes, he hit the 
ball 8 times. How many times did he hit the ball?

Step 1:  

or

Step 2:  

or +

Step 3:  

Step 1:  

or
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Step 3:  

Example:
For 6 holes, Larry hit the ball 3 times. 
For 4 of the holes, he hit the ball 2 
times. How many times did he hit 
the ball?

Step 1:  
6 + 6 + 6 = 18  
or  6 x 3 = 18  

Step 2:  
4 + 4 = 8  
or  4 x 2 = 8

Step 3: 18
8

26
+

1.

For 2 holes, Larry hit the ball 3 times. For 4 of the holes, he hit the 
ball 5 times. How many times did he hit the ball?

2.

Answers

7+7+7+7+7=35

7x5=35

8+8+8+8+8+8
+8=56 35

56

91

7x8=56

3+3=6 5+5+5+5=20

2x3=6

6

20

26

4x5=20
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Swing Count

For 1 hole, Larry hit the ball 2 times. For 3 of the holes, he hit the ball 
9 times. How many times did he hit the ball?

4.

For 6 holes, Larry hit the ball 6 times. For 3 of the holes, he hit the 
ball 8 times. How many times did he hit the ball?

3.

For 7 holes, Larry hit the ball 10 times. For 4 of the holes, he hit the 
ball 6 times. How many times did he hit the ball?

5.

Answers

6+6+6+6+6+6=36 8+8+8=24

6x6=36

66

24

60

8x3=24

1+1=2 9+9+9=27

2x1=2

27

2

29

9x3=27

10+10+10+10+10
+10+10=70 6+6+6+6=24

10x7=70

70

24

94

6x4=24
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